COMPQOUND
RISER P/N 1272
[[( SAFETY _ GLASSES)
< /‘\;i >
) RISER 3/8"
CARBIDE

FORESIGHT IS BETTER

THAN NO SIGHT INSERTTOOL

HOLDER
P/N 1289

READ INSTRUCTIONS
BEFORE OPERATING

[
!

RISER ROCKER TOOLPOST FOR 1/4"
CUTTING TOOLS OR 3/8" ROUND
BORING TOOL
P/N 1288

LATHE HEADSTOCK RISER BLOCK AND ~
RISER ROCKER TOOLPOST SET
P/N 1291

LATHE
TAILSTOCK
RISER BLOCK
PIN1292

SHERLINE
PRODUCTS

INCORPORATED 1974

CUTOFFTOOL
HOLDERRISER
BLOCK
P/N 1296

STEADY REST
RISERBLOCK
P/N 1290

MILL RISER BLOCK
w/ ALIGNMENT KEY

RISER BLOCKS

P/N 1288, 1289, 1290, 1291, 1292, 1296, 1297

The purpose of riser and spacer blocks
The purpose of Sherline’s riser blocks is to extend the
capabilities of the Sherline lathe and vertical mill. The lathe
was never designed to turn metal parts of the diameters that
can be accommodated with these accessories; therefore,
extreme care must be taken in the form of light cuts and low
RPM when turning large diameters.

“Tolerance Buildup” and accuracy with riser blocks
Another point to be considered is accuracy. When you start
clamping several pieces together, alignment will suffer. In
the real world of machining, spindlesare aligned by indicating,
not with pins or keys. This wouldn’t be the best way for
hobbyiststo start, and | believe the methods we use give our
average customer machining capabilitiesthey would have a
hard time attaining on other machines without a lot of
experience. As your projects get more and more complex,
these methods may not be good enough. We manufacture
adjustable tool holdersto help eliminate some of the problems
caused by misalignment. (For more information read
instructions for P/N 1201, 1202 and 1203.) If you believe
alignment could be a problem, machine a piece of scrap as
atest piece to getthe machine lined up. Don’trisk a part you
may have invested a lot of work in.

Some tips when using riser blocks
« You may have to use a little ingenuity when turning large
diameters because of the limited crosslide throw on standard
machines.

* The purpose of the mill riser block (P/N 1297) is to get the
spindle farther out fromthe column. Thisallows you towork
farther in from the edge of the part.

* There is no difference between the lathe and mill riser
block except the lathe P/N 1291 comeswithacorresponding
tool post. The riser toolpost was upgraded to a rocker

toolpost design as of 6/98. A rocker toolpost allows the tip
of the cutting tool to be adjusted to the proper height in
relation to the centerline of the part without using shims. By
adjusting the two screws, the tip of the tool can be moved
up or down. This is not a problem when using new,
presharpened 1/4" cutting tools from Sherline as the tips
have been sharpened to the proper height. When using other
tools or tools that have been resharpened, however, this
feature makes it easy to get the tool tip properly adjusted. A
3/8" hole has also been provided for holding tools with a
round shaft like Sherline's boring tools.

The riser toolpost for carbide insert tools
Introduced in 6/98 is an optional riser toolpost (P/N 1289)
which is designed to hold the 3/8" round or square shafts of
inserted tip carbide cutting tools like those offered by
Valenite™. (For more information on inserted tip carbide
tools, see the instructions for P/N 7600.)

Installation of the headstock riser block
Remove the headstock by loosening the screw that holds it
onto the lathe or mill and lift it straight off. Now install the
riser block using the keyway to align it. Do this by pushing
the riser block back towards the keyway without a twisting
motion. Put the headstock back with or without the keyway
depending onyour nextmachining operation (taper cutting).

Installation of the tailstock riser block
It is necessary to remove the handwheel at the end of the
bed to remove the tailstock before you can install the
tailstock riser block. You may have a slight problem fitting
this up. Itis a very difficult part to make because dovetails
can’tbe measured or machined easily. The biggest problem
we have encountered is the “tip” of the dovetail on the lathe
bed may interfere with the riser block. A couple of passes
with a file should fix it. (See Figure 1 on next page.) Riser

SHERLINEPRODUCTSINC.”™ 3235ExecutiveRidge ~ Vista = California92081-8527~ FAX:(760)727-7857
TollFree OrderLine: (800)541-0735 ~ International, Local or Tech. Assistance: (760) 727-5857 ~ Internet: www.sherline.com

10/16/08



FILE CORNER
LIGHTLY

FILE CORNER
LIGHTLY

FIGURE 1—Filing corners of bed dovetail for better fit
of tailstock riser block.

blocks made after 11/93 are of a two-piece design that, in
most cases, eliminates this fitting problem.

NOTE: When replacing the handwheel, try to let the set
screw pick up the same indentation so you don’t “chew up”
the end of the leadscrew shaft.

The cutoff tool holder riser block
Thisisanaccessory that | was somewhat reluctant to make;
however, | went ahead because it has been requested by a
number of customers. The problem with Sherline making it
isthatitcould cause customers to believe we are suggesting
that you can part off large diameter (over 1.0" or 25 mm)
stock with our lathe. Thisis notthe case. You should use the
riser with the following thoughts in mind:

1. Theonly cutoff blade we recommend is one with a
width of .040" or less, and thin blades such as these
tend to wander on deep cuts.

2. ltis difficult to get enough coolant to the cutting
edge with a narrow, deep slot.

3. TheSherline 3.5" lathe simply doesn’thave enough
power for cutoff tools wider than .040".

Use of the cutoff tool riser

My next consideration was getting enough rigidity, because
the farther the cutting tool is raised above the machine bed,
the greater the chance of “chatter.” | knew the base area
would have to be increased along with height, and it should
have two hold-down screws rather than one. I also considered
that cutoff tools work better inverted, because they have a
tendency to lift rather than to dig in.

The end result of all these considerations is a simple riser
block with two hold-down screws that mounts on the back
side of the crosslide. The standard cutoff holder mounts on
top with the blade upside down and reversed (the tip of the
blade pointed down). See Figure 2.

The blade must be moved in or out to bring the tip to center
in the same fashion as when it is used in a standard
configuration, and a shim may be required to get the tip on
center for really large diameters.

Parting off large diameters
If you want to attempt to go beyond the maximum of 1 inch
diameter stock | mentioned earlier, here are some
suggestions. These are especially important on hard-to-
machine materials.

1. Use plenty of cutting fluid.

3002 CUTOFF TOOL
AND HOLDER

PART

———

CUTOFF BLADE |
MOUNTED
UPSIDE DOWN

| .

ROTATION

1296 RISER BLOCK 1T——

FIGURE 2—Side view of the 3002 cutoff tool holder
mounted on top of the P/N 1296 riser with cutting tip
pointed downward and adjusted to centerline height..
(Seen from headstock spindle.)

2. Grindthe cutting tip of the blade square rather than
angled so it tracks straight and doesn’t cause the
blade to bend or wander.

3. Align the blade accurately with the crosslide to
assure a square cut.

4. Listentoyourmachine. Itwill tell youwhenyouare
working it too hard before it “strikes back.”

5. Last, but not least, don’t blame me if you break a
blade!

Riser for Compound Slide
Asimpleriserblock for the compoundslide isnowavailable
asP/N 1272. Itisabout 1" high and allows the compound to
be used on the front side of the part when the riser blocks
are in place.

Joe Martin, President and Owner
Sherline Products Inc.

REPLACEMENT PARTS LIST, ALL RISERS

DESCRIPTION

Rocker Toolpost Center

Tailstock Riser Body

Tailstock Riser Clamp

12850  Riser Rocker Toolpost Body

12880  Riser Rocker Toolpost Assembly

12890  Riser 3/8" Toolpost Assembly (Use w/ 3/8" Carbide Insert Holders)
12950  Headstock Riser Block Body

12960  Cutoff Tool Post Riser body

12980  1/4-20 x 3/8" Flat Head Machine Screw (1291, 1297)
12990  Pivot Pin (1291, 1297)

13910  Steady Rest Riser Body

13920  Steady Rest Riser Clamp

30560  Tee Nut, Standard (1296)

40250  Tee Nut, extended (1288, 1289)

40260  Head Key (1291, 1297)

40330  10-32 x 5/8" SHC Screw (12901 req., 12912 req., 1292—3 req.)
40540  5/16" -18 x 3/4" Cone Point Set Screw (1291,1297)
40660  3/16" #10 Washer (1290, 1291)

40690  10-32 x 3/4" Skt. Hd Cap Screws (1291, 1296)
40700  10/32 x 1-3/4" Skt. Hd. Cap Screw (1296)

40730  10-32 x 2" Skt. Hd. Cap Screw (1291)

NO. PART
REQ. NO.

11990
12831
12840

e e Sl el e N N R e e e e N N N e

Riser Blocks, P/N 1291, Pg. 2 of 2




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


